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If so, what is this that is written;? ‘and the souls that do this shall be
cut off’, but if the Kidushin are not effective, can they be liable for n9>

OVERVIEW

Xnr 72 »7 explained that we derive the ruling that if one is wpn two sisters
simultaneously, they are not nwmpn, from the 10D of npPn XY IMIAR YR JWRL.? K27
challenged this derivation, for if 121 7P are not 0910 in either of the two sisters, so
if he lives with one of them there can be no N> 211, since he is not married to the
other sister. X271 maintains that it is not possible to say that 1217°p are not 0910 and
yet there is a n72 21’1 for having relations with one of the sisters.* N9o1n resolves
an apparent contradiction from another X na.

n1voIN asks:
(3,n2 91 PHN NYIIN P99 519222 1999KRT YR

And there is a difficulty for the X723 states in 1°7R Y2398 299 N3 NOON -
= SHPNAN 72D DINIVI DNN DNV OINNX NYWHY 3

Regarding three brother two of whom were married to two sisters -
= 6092951 119) NYYONN 119 1IINYWA 901D PYNY 2299

Where @''1 exempts both sisters from being required to have either %% or 212" -
= 511D 91 MY IVVIY NYYA NISD NPHN XY NHINNK KN AYN 799N

For it is written, ‘do not take a woman upon her sister for a rivalry’; meaning,
at the time when the sisters become rivals one to the other [you cannot take
even one of them|’. mooin continues -

! The n"21 mnx7 amends this to read n13 72 °095n (instead of N7 *0an)

23,10 (INX) R

3m,m (MR) XP7. See previous X2 1"7 '0n for a more complete explanation.

4 x21 therefore maintains that the P10 of WX NIAX is where he was first w7pn one of the sisters and afterwards he had
relations with his wife’s sister; in such a case (where 10910 7Pw17°p) there is a fnm 21m.

5> The case there is where there are three brothers (M7 ,nwnw ,12187) where 1281 and 7wnw married two sisters (711 and
7X?). Now 72187 and 1w»w both died childless. Ordinarily 12 the third brother would be required to be 02>» the wife of
his deceased brother(s). Here however »1? cannot be 02> both sisters for that is the 290°% of 7wk nink. He cannot even
be 0271 one sister (1312771) since she is NPIPT MnX (if he were to be P11 02» she is the sister of AX? who is [also] TPPr
o127 to "1?). Therefore the oo rule that he gives n%°%1 to both sisters (and then they can marry whomever they want).
¢ They are free to marry to whomever they want even without 7¥°%1 (or 012°). w"1 argues with the 291 (see footnote # 5).
7 See footnote # 3. w"1 applies this 7100 to a case where they become rivals regarding 012

8 The n"27 M amends this to read, XA7X 101 DA 12’98 PMP? 12 302 X2 12 (instead of Xn9R 1?).

9 Both of these sisters are mpIpT to M172. They are rivals as to whom he will be 22»»n. The 7N teaches (by saying awx
XY AN X2 AR 9XR) that in such a case there is no obligation for 212° or 7%°771 (there is no 1) for either of them.

1
TosfosInEnglish.com




R 7"7'010 2,1 PUTR L7102

- 1195 013 Y Y091 RKY PYITPT 23 HY N ¥1WUN NAYN
It is evidently apparent that even though that the w7 is not effective,

nevertheless there is n9> for having relations with them; we assume this -
= 10912551 139 NYYINN 19 OMN VIOV )%D

Since he exempts them from 773°>17 and from 212°.

N1D0IN answers:
- 29501 5 N9 XID 709979 719 NPT ONN SINYT 1Y Y

And one can say; that there by 012 it is different, for we cannot ask there as

we asked here, ‘can there be a n9> 2191, if Pu TP 090 X?’; the reason is for there
$1INN HO1pNa XYY PN NYUNI )9 RPT N9 NIIN ) PPN NDAT

Even without the 12 7Sp (of the sisters to the 02°) there is also n9> (for another
MR [besides 1wX ninX]), since the 02 (if he is 02»™» one of the sisters), is
encountering (having an illicit relationship) with his brother’s wife in a
situation where there is no mxn.

SUMMARY
There cannot be a n72 211 (according to X27) by nNrnR "nw if o9 IN PYITRP TR, but
nevertheless there will be a N2 211 by 212°% MP9UW N1NR "N, on account of TR NWR.

THINKING IT OVER

Seemingly the two cases are different. When he was nrax °nw wipn
simultaneously, since Pw17°p *09n K7, there can be no N5 211 for living with one of
them; however by 212 since they are both P17 to him he is living with 1nppT NNk
which the 70 prohibited, so therefore there can be a N5 21 (for MWK mMnx)! 12

10 Regarding 012 there is a difference whether the widow is forbidden to marry her deceased husband’s brother on
account of a n7> prohibition (she is his daughter [for instance]), or if it is a lesser prohibition (she is a divorcee [from
a different marriage] and the 02’ is a 3713). In the former there is no 7" at all (since there is a n73 21°17, which means
that 1020 WP 1PR) and she does not require even 7%°%n, while in the latter (where it is [merely] a W%, which means
that 10210 1w17°P) she requires n%°°17 to be permitted to marry. Here, since "3 exempts her even from nx°on, this
indicates that if he were to be 02 her, the 1217°2 would not be 0910 (for only in a case where 1°09I1n PYITP X are
they exempt from 77¥°>m 012°), and nevertheless the 310 prohibits this 212> with a 073 punishment. This proves that
even in a case where 10910 PY1T°P TR (by two sisters), nevertheless there is a n75 punishment. How can X237 state that
if PooIn PP 1R (by two sisters who were DR n22 MwTIPn) there can be no N5 21°1, when we see that by 012° there
is definitely a n3 2vn for living with one sister, even though 1017 *05n &Y. [See R"wmn] See ‘Thinking it over’.

1 x31 is correct regarding nYrX *nw that there cannot be a n15 21 (for living with one of the sisters) if WP *09n XY.
However there in the case of 012, the 770 (according to w"1) prohibits the 012> (with the P05 of YY" wwY),
therefore since there is no 012° mxpn, if the 02° will be 021 either sister there will be a N33 211 (not [necessarily] for
TWR NINR [(since 1w17°p 05N RY], but rather) for 7%n D1pna X2W nR nwR, for which there is a N33 arn.

12 See mwn nom.
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